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Puzzle 1 (Easy, difficulty rating 0.40)

N N

—|m|o|w|o|t|n|o[~]  Fl|w|o|m|o|wo] | Blo|m|t|o[—|nf—[o[o] _|—|~[w]o|o|<||m|o
o o @

Aqfofo]—|~|ols|w|m] Ao~ |ojw[m|o]  Ho|o|ol~|m| <t —|ofv]  sl|o| <t || m]o|~|w©w
2 = .

—[<t|w|a|o|mlo|of—]  Slm|o| || [w|o|ol—]  Sl-|wo|—|o|o|o||st[m]  -S|o|o|m|n|w|—] | —|o
z 2 g

<t || —|o|ajo—|mfo]  FlN[S|~|o|w[—|o|o|m]  Flw|—|m]s|o[~|o]ola] o ||| —[©]w]o|m
= & 3

o|Njo—|m oo - Bl |®(olojo|af~|o|s] Blo|tola|o(mlw|= ] EfSHof oo~ (o)) ©
S S ©

o|~[m]o[twlof—|f  S|o|o|wlst|—|mla|of—|  Sleo|af~l— (ool imjo]  Jo|—|ofo|N|w]o| <~
o o b7y
[} 9] ©

|| t|o|—|~|o[n|o]  Sloo|—(m]w|o| st —|Nj©]  Z)[~[w]m| | o]o|ajo]  w-[m|—fw|ola]o|o]
N ™» <

o —[nfs|o|o|m~|wv]  o]o[—||o|N|o]m—[wv]  o]m|o|n]o|—|wlo| =] o] ||o|m|o]—(wv|—
B B B

mf©|~|ofwaf—|ols]  Slolajol—(mi~fo|s ol Sls(o|olola|—lowi~] Slolo|of(< | —fm|©




